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[Time: 3 Hours] [ Marks: 100]

Please check whether you have got the right question paper,
N.B: 1. All questions are compulsory.
2! Each question carries equal (20) marks.
3. Draw neat diagrams wherever necessary.

Attempt any two of the following:
a) Explain with the help of three examples, why rational people think on the margin.
b) Markets do not work efficiently in the production of public goods. Explain with the help of
two examples.
c) Isthere a trade off between inflation and unemployment? Discuss.

Attempt any two of the following:
a) What do you mean by economic models? Explain the circular flow of income model.
b) Explain the difference in approaches between positive and normative economics.
c) Plot a graph for the following function and explain it
Y=5+3x

Attempt any two of the following:

a) Explain the following.
(i) Shifts in demand curve
(i1) Movements along the demand curve

b) The market for readymade shirts has the following demand and supply schedules.
(i) Draw the demand curve and supply curve on the basis of this schedule.
(ii) What is equilibrium price and quantity in the market?
(iii) If the actual price is above the equilibrium price, what will happen in the market?

Price (in Rs.) Demand (in units) Supply (in units)
300 : 600 250
400 550 ' 300
500 500 350
600 400 400
700 300 450
800 ' 200 500
900 100 550

(c) Explain the concept of price ceiling and its effects on the market.
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Attempt any two of the following:
a) Explain the concept of absolute cost advantage with the help of two examples.
b) Given two countries X and Y producing two goods computers and mobile phones, the cost
of production is shown in the following table. ‘ '

Goods
Countries Hours needed to produce 1 unit of the good
Computers Mobile phones
Country A 40 hours 25 hours
Country B 25 hours 20 hours

i)  How many units of computers and mobiles phones can the countries produce in 200
hours?
i) Draw the production possibility curves for both these countries.

C) Explain the policy of protection.

Attempt any two of the following:
a) People respond to incentives. Explain with the help of three examples.
b) Why, is it that two economists, most of the time do not agree with each other on one
economic situation?
¢) How do you analyze the changes in equilibrium due to a shift in the demand curve?
Explain with the help of a diagram.
d) Explain the concept of comparative cost advantage.

TURN OVER
7D6EC292B2FC449D3E415A2AC03E94C1



